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Example 9 : The parallel sides of a trapezium are 40 cm and 20 cm. If
its non-parallel sides are both equal, each being 26 cm,
find the area of the trapezium. —

47. V@ of a rectangular box with length 2, bd h 3y and height
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Find each side of a figure given below, if its area is
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Horse stable is in the form of a cuboid, whose external
dimensions are 70 m X 35 m X 40 m, surrounded by a cylinder
halved vertically through diameter 35 m and it is open from
one rectangular face 70 m X 40 m. Find the cost of painting
the exterior of the stable at the rate of Rs 2/m?
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3. For the polynomial /

5 o
the degree of the polynomial ( L >
the coefficient of 6‘3)]

1) the coefficient of x°

the constant term n_

| 2
C+2x+1 75 L

2. Determine the degree of each of the following polynomials :
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11. Find the zeroes of the polynomial in each of the following :
i px)=x-4 (i) gx)=3-6x
(i) g(x) =2x -7 (iv)  h(y) =2y
12. Find the zeroes of the polynomial :

PO = (x — 20— (x + 2 m/@ .
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